Equal 9 step grey scaling betweebh* g;n=—27.3 andL* gow=27.3, Yore=0.9, normalisation whiteW

L*0aN==27.2,L*0au~0.0,L*0awF27.3,Ypan=6.0, Yoa~18.0, Yoanw=54.0,Coay=Yoaw: Yoan=9.0
L*taN=—24.2,L%1a=0.8, L*tan~27.3, tan=6.8, Y1a=18.6, Y1an=54.0,Cray=Ytaw: Yian=7-9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* =100 AL* min] / [AL* max], L* TusinD1 = 40 / 1og(5) [ log (Y/Yy) ] with Y,=18

g%= 99, g%= 99 9%= 91, g%5= 90 g%= 99, g%5= 97
L*TuBanD1 intended output real output linearized output
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. ? YoaitY,
*o = = ! normalisation: Yy =Yoayy0ait Yoref
AL*p5=6.8 (=1,2,..8) i t@iW=Y0aW v v o
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